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Example The rest of relations are presented here:

We 1ued “sting digrues to dons” Hedee
tdyetna oy bype A (Hirf_vz-ri\)-

Tov Ouaﬁ\/\ﬂ-“\ﬂ)&l’\, enlowly bt deon Higm en

\(2| =Y, -tgl =t

Yiu - \lj\,‘

‘ [
) |
l
( N : =t
\
|

WAV

2
E)L( show Y|Y2:Y2Y| , el

Example In SL,, we have t,v = sg¢s, so

Y= Y& =tTT.

9=
dOW\ Tt*v N R
Y=<
R&Wla.v\k.: 6]_“ vie., Sbin /_/,l

> :
X=e , |5 = -Gwnda-ww’hul l».nu.‘k\'
" Forgpt frown GLy 4o S1," = Spuiskize X%, A= X

67)\ e*)\ﬂx . e)\fot e?\ 67)\ e*)\ﬂx e)\fot e)\
0o 0 0 1 +% 1 1—-t - 1—t 0
1 0 0 0 t—1 t—1 -+ t—1 t
e—)\ e*)\‘*’ﬂ( e)\foc e)\ 67?\ e*)\Jroc e?\fo( e?\
0 0 - 0 1 & gmtogn(t-1) - q(t-1)  t-T
1 0 -~ 0 0 0 q'(1-t) -+ q™(1-t) g™
2q Txl= 74X P [T
T = -0 x4+ @-ox T4+ @-0 st X3,
9 -
T %= ab+><s+ s+ 7c+~|)x§+ (t-nx?
-1
T T t
1 ot —5 451 V(=41
s1=1
T o U Ty gl T 1
X — X ‘z X r— g x
~ -
Y (<)=t L‘L‘x

4 7T -1 T Gug'x
XI — ('{‘4—() X t+ttXbe— +4 (gt +-0x)

\—'F‘a 1+v<'*+ ((-t—l)+(l—t'() 1")>< \{(,(() = q—{-x"-(-(--—)

- T, -2 2
X X Go)x® 12 g X+ COx°
-~ - 2
o at—2+"><’+ C-I%C Y(x"):?zﬂx“'l'")%
1—t
X = q_‘t_'x
x e qtx T+ (t=T+q —q't)x
X (—t+1—q ' +q )+ gt
X2 gitx i+ (qt—q+t—1—q't+2q"' —q 't ")
+(t—T+q?—qt")x

K3 ()
O b serveskion :
& dd odd
1. P"‘"’H"g YV(X ) € S’})OW' < ) e

Ya ) e Spow < o
2, WVV‘VV‘V(/W:S"V\ (h}o‘i‘ SHS% me*pbﬁsw;)
2. Th‘aw\?wkwf

r - t
coo > x”") 5 x
o . o

S y—z) XL> x



Theorem There is a certain order over A such
that 8" A
v W

YB(e) = q BNt (BPr e 4 (Jower terms),

| ol ok, x> >0
Px= 2 Z{ ' i
od> v

&, <o, x>€D,
P [4

AN

The erdor com be lhgen 4o be

+
MEX & %“ Sdem X, W E W,

Pédcl/vx )\ / \I\)U:W)\'

I umiqe Domircut weiear M W g
At wmique downnodt Weiglt ™M \x,

1 0

any gray <
<0<bothl&1 <

<both2 &2 <3
3

Actnaduy . W Suffes %o chome. te B orden

(/\ = @ e et vork System

Wegt qop
Example
Lo e ¥ rex9e x F o xls -
Slat o we xPe x 3 xF e x Sen
-
&7 my = 1™ lower
” <™ =9 1'% +
\(&(’l)z‘t N 7 " " Qm>o)
\(d(x""): 9 1+ X"+ lovuer
[1 x2 x?% X x4 }
11t J
2 « qutq
x 2 * q’t
x4 * * * q_4t_]
x4 * * * q4t
bbSe,y*wd\‘ev\‘-

3 Macdonald polynomials
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